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' B e 63 16 79 (38 41 ) 300 B B T TR 65 24 89 ( 46 43 ) 340
261 AT kA 63 28 91 (48 43 ) 340 261 %k RE 65 14 79 (42 37 ) 350
3r  AME=E 68 25 93 ( 50 43 ) 375 3R =k BAGA 65 24 89 ( 49 40 ) 370
Mz RA W 69 5 74 (35 39 ) 325 A I ERGE 66 22 88 (45 43 ) 340
56 BAEE BA 69 23 92 (49 43 ) 375 bRI K HEF 66 28 94 (49 45 ) 350
64z 4THE IEBA 70 30 100 ( 52 48 ) 370 6L M S 67 19 86 ( 42 44 ) 325
TR #ARR K 71 23 94 (48 46 ) 365 TR BB A 67 18 85 (43 42 ) 340
8z N BT 71 14 85 (44 41 ) 370 8hr M tFE 68 22 90 (48 42 ) 370
Of WL B 71 22 93 (49 44 ) 380 ofr It BA 69 20 89 (44 45 ) 340
100 ®E 4 72 30 102 (50 52 ) 350 100 A EEE 69 11 80 (40 40 ) 345
1z =R % 72 20 92 (46 46 ) 360 1 BAR - 69 24 93 (48 45 ) 360
1260 %5 % 72 23 95 (48 47 ) 365 1207 BE Hig 69 22 91 (49 42 ) 380
136 R BB 712 30 102 (56 46 ) 410 13 HE = 69 16 85 (47 38 ) 390
1460 E# 95 73 25 98 ( 50 48 ) 375 147 R & 69 13 82 ( 46 36 ) 395
1561 1EE BERA 73 24 97 (51 46 )  39.0 1561 B BAIE 70 16 86 (42 44 ) 340
2067 LUA BB 74 15 89 ( 45 44 ) 375 2060 EW BT 71 15 86 ( 45 41 ) 375
3061 =M E— 76 14 90 (47 43 ) 400 3067 L% EEIE 73 15 88 ( 45 43 ) 375
4067  FH FEA 79 23 102 ( b4 48 ) 425 4067 =EEHE 75 10 85 (45 40 ) 400
50 & = 84 20 104 (48 56 ) 380 50  FJII FE 17 16 93 (45 48 ) 370
6067 EER # 79 22 101 (50 51 ) 390
7067 E BAGA 82 25 107 (53 54 ) 405
BBE (FHEMA = 94 19 113 (55 58 ) 455 BBE M %— 86 30 116 (61 55 )  46.0
BGE KA #H 74 ( 35 39 ) Par 72 J—XL—k  2O—FL—b

BEMH(EF) 6,606 yard 71.3 128

BEM(H) 6,237  yard 69.5 123

BEM(S) 5892  vyard 68.1 119

BEME(%) 5281  vyard 64.9 114

LM% 5281  yard 70.1 123

LZHE(HR) 4,878  yard 67.8 119




